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British Coins and Notes

00000.®0

10p 20p 50p
one penng two pence flve pence ten pence twenty pence fifty pence one pound two pounds

five pounds ten pounds twenty pounds fifty pounds

@ visit twinkl.com




ey Week3¢Dayl | Complete the bar models.

60p 28p

£21 £59

23p £4 47p




Dexter, Tommy, Alex and Rosie are going
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4 Dexter buys a comic book and a
chocolate bar.

How much does Dexter spend?

5 Alex buys 2 lollipops and a box of crayons.
£ and P

How much does Alex spend?

6. Rosie spends £3 and 80p

What items could Rosie have bought?




- Annie has £15

Te—=1
—m Week BC Dayl 8. Her mum gives her another £12

a) How much money does Annie have now?

Complete the bar model and the
number sentence.

£
£15 £12
+ -
Amir has £20
He wants to buy 2 balls. b) Annie buys this teddy.

Which balls can he buy?

How much money does she have now?

Complete the bar model and the

How much change will he get?
number sentence.

Is there more than one answer? f
£17 £




T 1 Week 3¢Dayl

Answers
1) 88p
2) £80
3) £4 and 70p
4) £3

5) £3 and 22p

6) Crayons, water and apple

7) Example: £13+£7=£20 (no change), £9+£7=£16 (£4 change)
8) a: £15+£12=£27 b: £27 -£17=£10
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1.Ron has this money He has 29p in his pocket.

in his hand. How much money does Ron have altogether?
2. Amir has 4 different coins in his money box. Tick 4 different coins which could be in his
He has less than 60p dltogether money box.

3.Anna buys a teddy and a pencil. The teddy costs 20p more than the pencil.
How much does she pay altogether?




Item Price
ey Week 3¢ Day? rboer | 207
Ruler 18p
Pencil 32p
Crayon 27 p
Pen 45 p —_—
4. | spend exactly 50 p. Which two Glue 36 p

items did | buy?

5. | bought two of the same item and it
cost me 90 p. What was the item?

6. What is the closest you can get to
05 p?
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Tommy has 35p in one hand and 27p in the
7. other hand.

a) How much money does Tommy have
altogether?

o8

Tommy buys this box of crayons. q‘

b) How much money does he have now?

8. Aisha has a £20 note. g
a) Aisha spends £7 on a cinema ticket. ez
£

How much change does she get?

b) Aisha's mum gives her another £3

How much money does Aisha have now?
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Answers

1) 46p+29p=75p2

2) 20p+10p+2p+1p=33p

3) 46p+26p=72p

4) ruler 18p + pencil 32p = 50p

5) 2 pens 45p+45p=90p

6) rubber 20p + pen 45p = 66p

7) a: 35p+27p=62p b: 62p -51=11p
8) a: £20 -£7=£13 b: £13+£3=£16
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The amounts have been correctly matched.




A shop sells these items.

ey Week 3¢ Day3

Ron buys a scarf and a box of marbles.
He pays with a £20 note.

How much change does he get?

Kim buys a book and a pair of headphones.
She pays with a £50 note.

How much change does she get?

Teddy buys a cap and a packet of balloons.
He pays with a £10 note.

How much change does he get?




I Week 3¢ Day3 ——
\ C Ghost Train: 90 p \

\_ J

7 Alex has 90 pence.
She bought a rubber for 30 pence and
wants to buy a pencil.

Annie finds a 20 p coin.

She puts it with her other three 20p
coins.

Pencil: 70 p

Does Annie have enough to ride the
The shopkeeper will not sell her the ghost train?

pencil.
Qplain why:. / prlain why. /
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Answers

1) True

2) True

3) True

4)E12+£3=£15 s0 £20 -£15=£5 change

5) £5+£21=£26 so £50 -£26=£24 change

6) £9+£1=£10 so £10 -£10=£0 change

7) Alex has 60p so does not have enough money
8) Annie has 80p which is not enough money
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$ 3
7 | | The difference between each purse can be shown with one coin.




Grocery Store Price List:
_@_ Week 3C Day4 apple 50p box of peaches £2

banana 40p pack of tomatoes 90p

carrot 50p milk £2.80

pineapple £1.50 cheese £2.90

pack of strawberries 80p chocolate £3.10

4. | buy an apple and pack to tomatoes. How much change will | get from £27?

5. I buy a pack of strawberries and milk. How much change will | get from £5?

4. | buy a pineapple and a bar of chocolate. How much change will | get from £5?
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| have 20 p.
1.

My change is more than 5 p but less
than10 p.

What could | have bought?

- B

Sweet: 7 p Apples: 18 p

él paid for my shopping with one Eﬂh

Here is my change.

What could | have paid with and how

A/
J.
k Chocolate: 12 p Banana:4 p /

\much would the item have been? /
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Answers

1) False the circle on the right has £1.50 which is greater
2) False 71p can not be made without a 1p
3) True with a £1 coin
4) 50p+90p=£1.40 so £2 -£1.40=60p change
5) 80p+£2.80=£3.60 so £5 -£3.60=£1.40 change
6) £1.50+£3.10=£4.60 so £5 -£4.60=40p change
7) chocolate 12p so 8p change or banana 4p and sweet 7p = 13p so 7p change
8) 20p coin ditem cost 3p
50p coin ditem cost 33p
£1 coin ditem cost 83p
£2 coin ditem cost £1.83 or £1 and 83p
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All three bar models show a way of making SOp
50p 50p 50p
20p | I0p | 20p op(op| 10p | 20p |Op | IOp | IOp | 10p | IOp

50p If I use a £2 coin to buy two of the pieces of fruit,

= I will have more than £l change.
p 2

Daniella had 2 pound coins, a 50 pence coin and a 20 pence coin.

She gave her sister dll of the silver coins.

Daniella has enough money left over to buy the bike and the bear




